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QUESTION 1

You want to build an operation mapping using multiple mapping programs per direction.

Which restrictions do you have to consider?

A. The output of each mapping program must fit the target message type.

B. The mapping programs are processed in the specified sequence from top to bottom.

C. The checkbox must be enabled in interface determination to preserve the sequence during the runtime.
D. All the mapping programs have to belong to the same namespace.

Correct Answer: B

QUESTION 2

Which of the following adapters can you select in the communication channel when using Process Integration proxy
communication?

A. Xl

B. HTTP
C. WS-RM
D. RFC

Correct Answer: A

QUESTION 3

What is a context object?

A. An ARIS modeling entity

B. An XPath expression

C. A placeholder for a namespace
D. An alias for an interface

Correct Answer: B

QUESTION 4

On what is the Advanced Adapter Engine Extended based?
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A. A standalone J2SE engine

B. An SAP NetWeaver Application Server Java

C. An SAP NetWeaver Application Server dual stack (Java + ABAP)
D. A non-central Advanced Adapter Engine

Correct Answer: B

QUESTION 5

What is the purpose of the standard function "exists" when used for a source element in message mapping?
A. To check whether the element exists in the source message

B. To check whether the element in the source message has a value

C. To check whether the same element exists in the target structure

D. To check whether the element is mandatory in the source structure

Correct Answer: A
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